

الف) $y''' = 2x^3 + 2x - 1 \Rightarrow y = \int \int \int (2x^3 + 2x - 1) dx = \frac{1}{4}x^4 + \frac{1}{2}x^2 - x + C_1$ ✓ (۲)

ب) $x = \frac{\pi}{4} \Rightarrow \frac{\pi}{4} \cos y = 0 \Rightarrow \cos y = 0 \Rightarrow y = \frac{\pi}{2} + k\pi$ ✓

ج) $\frac{x^2y^2 + 2xy}{x} = xy \Rightarrow x^2 + y^2 + 2xy = 4xy \Rightarrow x^2 - 2xy + y^2 = 0 \Rightarrow (x-y)^2 = 0 \Rightarrow x=y$ ✓

د) $y'' + 2y = 0$ ✓

$x = -1$ در هر ۲ ضابطه وجود دارد

$a + 2(-1) = 2(-1)^2 + b \Rightarrow a + b = 2$

$f(x) = \sqrt{-x^2 - bx + a} \Rightarrow -x^2 - bx + a \geq 0 \Rightarrow \frac{b}{-1} + \frac{a}{-}$ (۲)

$a+b = \frac{-(-b)}{-1} = -b \Rightarrow a+b = -b \Rightarrow a+2b=0$

$ab = \frac{a}{-1} = -a \Rightarrow b = -1 \quad a+2(-1)=0 \Rightarrow a=2$ ✓

$a+b+2(-1)=1$ ✓

$ax^2 + bx + c > 0 \quad a < 0 \quad \frac{-}{-} + \frac{-}{-} \quad a > 0 \quad \frac{+}{+} - \frac{-}{+}$ پس a متناقص است (۲)

$\Rightarrow bx + c > 0 \quad \frac{+}{+} - \frac{-}{-} \quad 2b + c = 0 \Rightarrow c = -2b$ چون قبل از ریشه عبارت + است پس شیب منفی است $b < 0$

$3a + c - 3|b| = 3(0) + 2b - 3(-b) = 0 + b = b$ ✓

الف) $|x - [x]| \neq 0 \Rightarrow \begin{cases} x > 0 & x - [x] \neq 0 \Rightarrow x \neq \mathbb{Z}^+ \\ x < 0 & -x - [x] \neq 0 \end{cases} \Rightarrow R_f = R - \mathbb{Z}^+ \quad R - \mathbb{W}$ ✓ (۲)

ب) $\sqrt{x} - 9 = -\sqrt{y} \Rightarrow \sqrt{x} - 9 < 0 \Rightarrow x < 81 \Rightarrow x \in (-\infty, 81)$ ✓

$D = (0, 81)$

الف) $\log_x(x-1) > 0 \Rightarrow x-1 > 1 \Rightarrow x > 2$ $\log_x(x-1) < 0 \Rightarrow x-1 < 1 \Rightarrow x < 2$ $\log_x(x-1) > 0 \Rightarrow x-1 > 1 \Rightarrow x > 2$ $\log_x(x-1) < 0 \Rightarrow x-1 < 1 \Rightarrow x < 2$ $\log_x(x-1) > 0 \Rightarrow x-1 > 1 \Rightarrow x > 2$ $\log_x(x-1) < 0 \Rightarrow x-1 < 1 \Rightarrow x < 2$ ب) $\log_x(x-1) > 0 \Rightarrow x-1 > 1 \Rightarrow x > 2$ $\log_x(x-1) < 0 \Rightarrow x-1 < 1 \Rightarrow x < 2$ $\log_x(x-1) > 0 \Rightarrow x-1 > 1 \Rightarrow x > 2$ $\log_x(x-1) < 0 \Rightarrow x-1 < 1 \Rightarrow x < 2$	۶
$y = \sqrt{\frac{3x^2 + ax + ab}{x+b}}$ $x = -b$ $\frac{-b}{-1+}$ $-b = 2 \Rightarrow b = -2$ $a = -3$ $\leftarrow$ $\text{در صورت نیاز از این برد}$	۷
$f(x) = x-1$ $f(x) = \begin{cases} x-1 & x \geq 0 \\ x+3 & x < 0 \end{cases}$ $f(x) = x-1$ $f(x) = x+3$ $f(x) = x-1$ $f(x) = x+3$ $D = [-\frac{1}{3}, +\infty)$	۸
$y = \frac{3(12x^2 + 12x^2 + 9x + 1)}{(12x^2 + 12x^2 + 9x + 1)^2} = \frac{3(12x^2 + 12x^2 + 9x + 1)}{(12x^2 + 12x^2 + 9x + 1)^2} = \frac{3}{12x^2 + 12x^2 + 9x + 1}$ $D = \{x \mid x \neq -\frac{1}{3}\}$	۹
$1 - \log_x(x-a) > 0 \Rightarrow \log_x(x-a) < 1 \Rightarrow x-a < x \Rightarrow x-a < x \Rightarrow x < \frac{1+a}{2}$ $x-a > 0 \Rightarrow x > a \Rightarrow x > \frac{a}{2}$ $b = \frac{a}{2}$ $c = \frac{1+a}{2}$ $c-b = \frac{1+a}{2} - \frac{a}{2} = \frac{1}{2}$	۱۰